=00SE 1060 1 REVISIONS
TOLERANCE FOR REV | ZONE DESCRIPTION ECR CHECKED
PLASTIC Ol DESIGN RELEASE XXXXXX | XXX XX/XX/XX
DIVISION |TOLERANCE
DIMENSION | (CLASS 5) COMPUTERIZED DOCUMENT
0 010 L NO MANUAL REVISIONS PERMITTED
10-30 +0.15 2 )
30-50 .0.20
50-75 .0.25
75- 100 .0.30 ) )
100-125 | -0.35 \
125-150 | :0.40
150-175 |~ 20.45
1 75-200 | +0.50
200-250 | :0.60
250-315 | :0.70
3X TORQUE TO
30-40 IN-LBS
ul -
TORQUE TO 12-20 IN-LBS
21 | 638091006 SPACER,L=55mm |
20 | 308902005 POWER HEAD AND FUEL TANK ASSY |
19 1308675003 FUEL TANK AND CAP ASSY |
18 | 308682003 FUEL TANK ASSY |
|7 | 518540003 PLASTIC,UPPER NO/Z/ZLE |
6 | 51854300 | PLASTIC.PLATE-BOTTOM VOLUTE |
15 | 66062900 | ST SCREW ,STEEL #10-14X3/4 9
14 | 51853900 | PLASTIC,BOTTOM VOLUTE/OQUTER |
|13 | 66073000 NUT ,HEX NYLONLOCK 3/8-24 |
TORQUE TO 130-150 IN-LBS |12 | 65001600 WASHER FLAT /03165 |
|1 | 518265007 FAN/26CC |
1O | 6/8126005 WASHER-FAN/FOR 26CC BLOWER |
SCREW, TAPTITE THR,FORM
R 9 |660970004 M4X0.7-77.5MM |
9X TORQUE TO 15-20 IN-LBS “ 8 66067400 SCREW,PLASTITE #10-14X7/8 4
L - 7 | 51853800 PLASTIC,TOP VOLUTE/INNER |
== o o 308844005 276CC POWER HEAD ASSY' |
-~ 5 30868000 | FUEL CAP ASSY/26CC |
l 4 158080000 | BLOW MOULD,FUEL TANK FOR 26CC |
1o l 3 | 660970007 ST SCREW,#10-14X1/2 SLOTTED 3
l f 518537001 PLASTIC ,HANDLE |
NOTES: i l | 66062100 ST SCREW,#10-14X1/2 SLOTTED |
|. FUEL CAP ASSY COMPONENT: l D L) TEM /N DESCRIPTION ary
). P/N: 518507001, PLASTIC,FUEL CAP FILLER
2). P/N: 560955001, PLASTIC, VALVE-DUCK BILL, FUEL CAP l \
3). P/N: 900777001, FILTER, FUEL CAP 5 i 090135005 26CC BLOWER / HBL26YBN AS PURCHASED
4). P/N: 901609001, GASKET,FUEL CAP PART NUMBER DESCRIPTION REMARKS
2. THIS DWG DOESN'T SHOW ANY PACKING MATERIAL. i) TNLESS OTRERWISE SPECIFIED Torawn &Y i
3. SEE QUALITY ASSURANCE FOR ADDRESSING CRITICAL AND MAJOR INSPECTIONS. SIVENS ONS ARE N CANLEYE  04/03//07 TTI GROUP NORTH AMERICA
"o MILLIMETERS. CHECKED BY DATE|TITLE
TOTAL DIMENSIONS THIS PAGE = O FOR ALL UNSPECIFIED
@ T T e D‘METNS‘OTNHSE PCLAEDASFE‘LEEFER APPRSfEGD — 04/03/8375 26CC BLOWER / HBL26YBN
TOTAL @ DIMENSIONS THIS PAGE = O R T e DO NOT SCALE, MKW  04/03/07
E‘OSFgLC?USTEg\DEOPSFF{{T\UESSEDWEFLO%? TH\RADSMAENGYL‘EZFbMi Lod N,/ A SCALE4 090135005 Ol
o enour North aerca's | TAED AN @ NONE sHeeT | of |

S / S e 4 5 & |




